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Section : Mathematical Abilities

Y o s s & T 2 cm g1 FAL F HTIS AT ST
(n == & FEET Hifsw)

Ans  p1.24255cm®
X 2.2,524.5cm®
% 3.2,624.5cm3
X 4.2,725.5 cm3

Q2 A3RB YAS F U T A I # AR €1 A, B ¥ Fedl 8, "ufe T0 G AU 10 HaR ¢ &1, Y A U geR U 99 TRl A
S HelR g1 ST " B SR 4T §, "afe gH q SuA 10 Hav g Y, wmﬁmaﬁﬁaﬁaﬁﬁm%wﬁﬁs’r
ST 1 A & T e Fa¥ &2

Ans " 1.70
X 2.50
/< 3.55
/5 4.65

Q3 TP gHMER A AUAT U1 3ifrd Goa A MY ST IR 997 3R 39 UPR I 17% $I 1A g3 1 Al IWA 31011 A1ad Sifhd T W
ainsﬁ?n o IS ATH Ufa=Taar fa-t giedl?

Ans K1 1T%
X 2.41%
 3.66%
X 4.83%

Q4  TH A F AT H 30% Pt i Bt AT 81 §HP A & wfa=raar gfes fpasit gifte
Ans X 1.90.5%

X 2.41.7%
< 3.69%
o 4.119.7%

Q5 7 e i ABC 3R PQR &Y wafmaw AYyw 59 WeR € f% 2A = 2P = 90° 1 3f¢ BC = 29 cm, PR = 21 cm 8, @ AB &1 0H
(cm ) 3Td FIRTCI
Ans X 1.22
X 2.23
o 3.20

X 4.19



https://t.me/ixambeegk

Q.6

Ans

3 Iufiqar) & S ¢ 1T H 64% Haerarsit A Ha STd, R [ 4% Ud ray Giffd # fr MU vw Sufigar @t 12,288 #a fird
St A AY Tl BT 64% A1 39 G B AHIBd Tal B Fot w0 J1d P |
2 1.30,250

o 2.31,250
X 3.32,152
X 4.20,152

Q7

Ans

Tfe (a - 2b) = 8 3NT 2ab = 9 §, T (a + 2b) PT A FId BIOTTI
X 1.12

 2.10

X 3.6

K48

Q.8

Ans

3l af Ugd RER B ST 1,75,000 2t A e o aul & 3 4% 3R 5% B fS g3 &Y, 9 W B aduE SES 3
FIRmTI

2 1.1,92,100
2< 2.1,93,200
o 3.1,91,100
2< 4.1,89,200

Q.9

Ans

faT 7T ST S| BT IgAP (mode) T oW
21, 15, 16, 48, 6, 15, 44, 16, 6, 5, 15, 16, 21, 6, 15 3T 43
& 1.15
X 2.16
X 3.6
X 4.21

Q.10

Ans

TS SSAM gHER $Hd Yo TR a1ad 99T § A TIET BT TANT TSP 25% ATH 3fid SRaT g1 SHA 3w J5H! B
ATH T B & fore ge < o1 fofa femamt 10% @y P P e IR fpaq ufawa 9 ge 3+ =fee?

X 1.9%
 2.12%
2 3.10%
X 4. 1%

Q.11

Ans

4 PRITY 3R 3 A &1 gwa 22,100 8 3R 5 FRIGT 3R 2 A &1 gea 21,750 71 v Hif geu (2 H) 710 BICI
2 1.125
2 2.140

o 3. 150
< 4.130

Q.12

Ans

Ife 0.08 X 0.8 X p = 0.008 X 0.8 X 3/q, %,fﬁiﬂqﬂiﬂﬂaﬁﬁﬂll

X1 8% 1078
X2 8% 107
X3 8 x 1078
4 84 x 1077




Q.13

Ans

TS YR BT A, BR CF a4 3: 6 F Jurd & gieT 9rar 21 afe ¢ F1 iz B A 2600 i 7, @t A HY B [ ot e
3iferp frette

o 1.3200
2 2.%100
< 3.3250
< 4.%150

Q.14

Ans

wmﬁ?—rmﬁrmaﬂim% kmfhaﬁ'rmﬁ,:rma:rgaqmm
km/h #T =T & 30T T F 99 AT 50 km/h F =TT T T FIGT 2
o I & N 3HH Wi "eT Hma @ (km/h #H) A9 Hifaw

4
o 1. BE.E
4
<2 34H
[
< 3. 355

&
X 4. 345

Q.15

Ans

TH TN F5 F, 60% T YoV § 3R 40% W afgany §1 af geul #t ot omy 55 af ok afgansi # sitaa omy 45 af , @t
Tt gowl o ot 3y (aut #) FaT 82

& 1.51
X 2.50
X 3.48
X 4.49

Q.16

Ans

e faamaa & 40 faenfiat &1 siaa UR 52kg 81 afe Rrers 1 YR wIftra = foran s, ot sia YR § 5009 #Y 9fS &Y =Tl 21
f1e1® o1 UR (kg ®) F1d BRI

X 1.715

X 2.745

X 3.735
& 4.725

Q.17

Ans

afg A At B, P(A) =2, P(B) =; 3R P(AnB) = &Ml deaT (events) & @ P(ANB)
AT HifET

x 1.

& 2.

m|w @]

< 3.

5 4.

w=a @

Q.18

Ans

TS A9 g X B B 3R FHa1g | 25% P g P A1 81 AP F muaT § wiaraar ¥ gf 9 P (gq=rea & 2 Rl
% giyeeq)l

X 1.94.51%
X 2.94.31%
o 3.95.31%
X 4.93.51%




Q.19 fHfafad Fu= § ¥ SH-91 HYF I 81 82

" R e Bl A T 13+ 5 ¢ 12 SR A 8, ) 9 ) T < 3
X 2 WS S91 Yo | dTel 1Yl ST 8Ehe GHRIT S 4 HH eidl ¢
v 2a,2a IR 3a YT AT TP GHiEETE Ays &1 A 22 g & |

& 4.
Wﬁﬁﬂﬁlﬁwﬁ%ﬂmﬁ@ﬁaﬂ@ﬁﬁﬁﬁuﬁﬁ A d9 Y BT Uh-ddTg
BIdT G|

Q.20 50,000 & faerel faa & 1T, 30% Y Fe 3N 26% TH 5% B 31 Hiv® Fel & & sfav F1d PifrTI
Ans " 1.%150

X 2.3120
< 3.%140
X 4.3130

Q.21

2

e x = (E)ZX G)_4 T ar x? F AT AT e

Ans 2 [

< (3)

)
@
)

Q22 TP TSI A 25% Pt gfg #1 ATl 8 3R BT 16% t B F 91l ] 1 e &1 sifqw ar w1 g2
Ans  #1.5% @I dla

X 2.5% @I HH!

X 3. IS gaad Tal

X 4.13% DI HHI

2 IR cot*A + cot?A = 18, ar cos*A — 3cos?A & AT AT HITAT]

Ans K11
X 2.2
o 3.1
42




Q.24

Ans

feafaf@a ser @ sgers & e =

il & fea 6 7 8 9 10
AdST Fr FE 4 6 7 5 3
o 1.8

X 27

X 3.5
X 4.6

Q.25

Ans

T fdd o HURUT &0 W $T G0 391 ofl 3 J6f & a1, 38
FOTETT &l - AR A9H F &l S & AT HA|

X1 112% =nf¥e
x 2 112% =¥
v 11-% i
x4 112% a1f¥es

Q.26

Ans

A 3R B HRI: 225,000 3R 250,000 F} Y-RIR & TTY TP HU- & TP a¥ & fore WreR @) Ie3md Hd &1 7 He1 913,
30,000 B YFRIRT P JTY C ITP 1Y TSR] A AT 81 SI1aT 8 3% 9 HEIA 91 A (YT GRISH (YFRTRT) 999 & A1 81 98
A g¢ fh a9 & ofd A ot @1 23,900 7, A 39 @14 H ¢ &7 e faran ghm?

2 1.%1,200
2 2.%1,000
& 3. 3600
2 4.3800

Q.27

Ans

T 9139 A, B 3R C B Higdl HHRT: 10%, 20% MR 30% 813 2 : 3 : x P gura A fyemar wirar @ rrd uRomaasy 23%
igdT ITd1 e ST 8 | x BT {9 [T P

K 1.6
2.5
N 3.7
X 4.8

Q.28

Ans

AABCH, <A =85 3T2C =58 gl Ify APQR, AABC & THFT ¢ 3l
T T g, ar 2Q g Ffew)

X 1.85°
X 2.73°
o 3.37°
X 4.58°




Q.29 A pole stands vertically on the ground with the help of a 12-metre steel wire tied to its top and affixed on the ground. If the
steel wire makes an angle of 30° with the horizontal ground, then the height of the pole is equal to:

Ans > 1 8 meters

X 2 6\@ meters

« 3. 6 meters

X 4 S\E meters

Q.30 A 3R B UH &TH FI 9 oA [T R qhd §, Saf B 3R ¢ I S o1 18 &A1 & 1 % Twpd &1 A, B 3R ¢ T1y e &4
P §U I H P 8 faY & 1 HR T &1 A 3R € Y I Ay H10 R HA | fbaq e a2

Ans o 1.12
X221
X 3.13
X 4.14

Section : Reasoning and General Intelligence

Q1 YUY H, TP YT S 1< | 3R 11 HHITP af A T U & | Fu7 & MUR W, 3MUH! 49 31 ¢ i SWRea sy 3
Frafafaa & @ S9-11 SgHE T S GHdr 81 (IFHF TS T 8 o 7P WY AR w78 w1 T ], AT vy A g e
TSR |/ U fomaT s Har 1)

FU: ST T W U & g urrar 10 wan 3t S wfensi ® Graw 80% 3w 31 g, st faendf 3@ af 10t e F A
ufemat # i gU R, 3 off omded # ged 7

mﬁwmaﬁémﬁmﬁwm%mmﬂﬁwm%l

I1. it faemeff 10 wam &Y wdiensit & =nfie gu € 3% waw @t firem, w19 3 wdten # 80% a1 IUR fUF 3w wTw A
Ans  # 1. Had (1) BT SATHM AT T Gl §

X 2. (1) 3R (1) ST BT STHA THITAT ST Febell &

X 3. Had (1) BT FTHA T ST AHdl §

X 4. (1) P 3MRAE (1) BT SFTHH T ST el §

Q2 YIAP g A TAP &R BT Had Th IR TAIT HIP ‘CRACKER’ Jeg & g, IR, TS 3R TTaa 31erRY (9715 iR 9 918 3R
9 W) &1 7O P fPaa Irdew 3PS Weg IE o AP 82

Ans X o1.d=
X 2. T ot et
3.
X 415

Q3 %mg&rﬁma{mmmwaﬂmmnU,Kaﬁ?smmaﬂ%ﬁmﬁma&ﬁaﬁmﬁwmwmm
?
Ans < 1.3l
X 2.T® i T
& 3.T%
X 4.TY YD




Q.4

Ans

fFrafafeaa Ser ufen ok iR fRw e uy @1 3R i)
uﬁl@mﬁ%ﬂ&nﬁrﬁw%aﬁwﬁuuﬁm%aﬁﬁﬁ%m@wﬁﬁaﬂmaﬁ(criﬁcal reasoning) ®T ¥R HT I[E
C3d [
SR HY | Frafif@a & J w1 SgA™ ST o qobdT 82 (39 $ 4T 8 S Y TR R 98 e a1 §, e sy |
foT T auEieTERY | urw fBar S w1
1) 39 A StfrepiRr 3ip faduTarsd ad # urd fra B

1) Tem ¥ siftreir vy fadeere 9 ard g €1

2 1.7 (1) SR AE (1) BT STHH AT ST Ghell §

& 2. (1) 3R (11), T BT STH TR T Ghell §

2< 3. %Had (1) BT STHH T o Hhall §

7< 4. %ad (1) BT A T ST el §

Q.5

Tgelt S gudt Smpfa & uw Fifda yovR & Waftra 81 Yot 1 sreaumt T iR 39 snepfa &1 aa= Fifom ot v fag (2) &
RIM TR 39 YR @1 ST A1 fb Fadt snepfar, =it srpfar & St uoR wafta g

T e
~ ~, PN v S
e L o / S K_/ S 2
~ \ .
| | |

Ans
—5*
< ()
_/
//'\\
x2 ( P
#_x"'i-‘““n_\‘
X 3.
U
S
¢4 P
Q6 3eRl F I WA B gg, o & 1 gar & Raa wiEl § e T & @9 W) g@ar . 8) st

Ans

CDG_1J_Z0_SZ _VYZ _BEZ
% 1. FUGUI

2< 2. FJONI
2 3.0JGFU
& 4. ZMPUA




Q7 fyoeul # Q TE I APl B vgE R vy R (?) S WM W 1WA W Y@ difbs & 4 g g seh |
A A PIA A AIF A Al F A

A | F P4 AM A ?
F 4 M9 M. A|M A Pl p A

Ans N D E
x| A
b AV

M 4 F
2| o A
P A A
o N ﬁ}
X3 | b E
AV A

F A~ A
x4 |9 A
M . P

Q8 & 7 gen ¥ vy g 2’ F R W T AT AR
154, 159, 169, 184, ?, 229, 259
Ans X 1.201
< 2.202
< 3.203
o 4.204

Q9 3&RT & IW Ao PI gAY, o 1 718 @ & R ®F § wfie 0 @ 7@ R ga i 8 s
FMD_ B_ZA _MVW TM_S PMN_
Ans 1. VJJFO
X 2. VHUYI
X 3. ENKGF
o 4. EMXRO




Q.10

Ans

Tfg «+ 3R DY TUY | g 34T ST U1 x’ 3 =’ &Y MUy § g faar oe ) Frufifad gfiexu d <2 & WA w |
STQM?

202+2-15+164%x4=7
X 1.555
o 2.558

X 3.556
X 4.557

Q.11

Ans

&Y ¥ 39 WAIeH 3 Y, R § 1 sraen & e AT A wihe w9 9 W@ W @ i @) st
TRY_US_UV_YU _UYU XVY_

o 1. UYTWU

% 2. UCRSD

% 3. FUUTH

% 4. UFYDJ

Q.12

Ans

PN B Th aNiaR e b gxiig 73 Rzmai A f[Ader a1 W srgswpasr: AsT wirar 8 3iv onflR d I9d ¥¢ forar wrar 81 @em
TR g SIS »H1 fe@rs 3m?

|
|
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|
|
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Q13 & 7S o F 39 T guvr yfafds wt g, it i gxit T a8F & IgaR gdor ) MN IR @R W T

M
M,
N\
.
.
e
N\
B
\
B
/] \
R
N
Ans
x 1.
o 2.
N
X 3.
]
x 4.
]

Q.14 TH HYT P 9IS | 3 11 HHiTPd g Frepy 3T T 21 319 P 5 FYT & MUR R PH-A1re=-A s I 2721
PYT:-G<H>K<S=L=M<Q
ﬁ'ﬁlﬂf:
.G>L
ILH=Q

Ans 1. T SY |, R T fsed 1, T
X 2. P | iR, T T €
X 3. Paq s 1|, 9T R
X 4. %qd e |, TR




Q.15

Ans

I T $1 gAT Rl W e 3wt yer wafta § fory yer Fafif@ ageal $t Sent defta g

(AT 3 HRATSHT B STd Ued 3Pl B -3 fpu fa=n, Afspare yof wemasii wr 1 i 91wl a1 13 - GBI 13 W
TRFATE A 13 F SSVHSTAIALON BT 31T fHaT o1 THa1 31 13 B 1 3R 3 H SET-AET HA FI, IR BT 1 SR 3 W
T wfhang w & ergafa 1t 8)

(4,12, 8)
(2,7,5)

& 1.1,4,3
23,65
X 3.94,7
X 4.7,2,1

Q.16

Ans

ﬁmﬂ%ﬁn‘éuﬁaﬂvﬁlﬁﬁﬁwmwﬁwﬁaﬁvwwwwmila‘s’éﬂ?ﬁiaﬁ?&ﬁ%a‘rwwﬁ

A N O * W

A a . O *
(A) (B) (©) (D) (E)
K 1.A
X 2cC
X 3.B
& 4.D

Q17

Ans

E@mﬁwﬁﬁﬁﬁ%mﬁw%ﬁwmwwmﬁ%lagﬁmaﬁq-m%a’rwwﬁﬁaa
?

ST ¢: AWM P 3% Ueh 3API A eT-e fFy fam, whrang guf Temnsii ur $it 9 F1fge ] 3a1. 13 — WEIT 13 R Afrang
Y 13 B SSH/ISTHIAIN BT 31 fHa1 S a1 8113 B 1 3R 3 H -3 H31 B, 3R b 1 3% 3 W nifordig

mwﬁmﬁaﬁ%n

X 1.41-123
X 2.25.75
< 3.38-114
& 4.33-97

Q.18
Ans

e ¥ e o &, FAWN’ @Y 09( )’ 3R ‘LAWN’ &Y “9( )1’ foraT wirar @ 13t eyt & L &Y foram wimeam?
X 1.0

X 2.

X 3.)

o 4.1

Q.19

Ans

TP e W TAP 31&R BT Had TP aR YA HIP B, E, O 3R R FT YUNT H3b foraq A1l Sl Jeg 941E &1 9 82
X195

X 2.dH

% 3. W& ot et

& 4.3




Q.20 & S gaen ¥ vy fug 2’ & R W T AT AR
16, 21, ?, 43, 60, 81, 106
Ans " 1.30
502.32
3,31
25 4.33
Q.21 Select the word-pair that best represents a similar relationship to the one expressed in the pairs of words given below.
(The words must be considered as meaningful English words and must not be related to each other based on the number of
letters / number of consonants / vowels in the word.)
Docile : Defiant, Placid : Turbulent
Ans «" 1. Zenith : Nadir
& 2. Relinquish : Surrender
£ 3. Scrumptious : Delicious
/< 4. Optimal : Ideal
Q.22 U YT S 915 | 3R 1| HHifHd &f e AT 7T 31 J1a HIE i $UT & YR R PH-A7H-8 ey 97 278 |
HY1:Z2<Y=J2G2P2C=2R
e
.Z2R
nLJ=cC
Ans X 1. Pdd Y ||, TI
¢ 2. AA e |, SR s 1|, T
X 3. Paa e |, g ?
X 4. = | ek, AT I §
Q.23 IY Y=Y F gT R T=t S W ueR et § o voer Fafifaa ay=m) # wwem J&6fta g1
(T &: TEISHl B IS UeH bl T -3 fHu fam, ftrang gl wemsit w ot wrt @ifge Ia1. 13 - T/ 13 W
HRPATE A 13 F FSAVISTHIAON BT AfS fHaT o1 FHar 81 13 B 1 3R 3 F SET-3HeT B 3t AR R 1 iR 3 W
Tfordta JifSrang w1 #t srgufa T8 @)
(3,5,18)
(2, 3, 15)
Ans &01.1,5, 11
£52.5,2,10
o« 3.1,2,13
K 4.56,11
Q24 fg+ 3R FI MU | ga far g quT x 3R+ HI 39w | ged faar o ot Fafafee wfieru & 2 F R R Fn
S{TEIT?
313+4-2107x7+24="?
Ans o 1.1529
& 2.1525
& 3.1537
& 4.1527
Q.25 gﬁwwﬂiﬁﬁﬁwaﬁaﬁ?g@m%%Keﬁu%iﬁaﬁ'ma’rmﬁr%&%lL,M%arieﬂ?ﬁ%ﬁﬂifww
B Fraadaafd 1 3R J F AT 93 &1 K F P oS iR 1 901 71 Tl ufea & #1337 safary =8 o1 8, @ afeaal & o
Te frast 32
Ans X 1.1
52,376
o 3.9%

X 4T




Q.26  F-iiar 3ruit FHam A MF A 103 3R A T 183 WA R &1 wem # o faemeif §2
Ans 01,30

X 2.28

o 3.27

7 4.29

Q.27 s fAfid Be UTHT §, ‘TALKER' ) 1@#0$%’ 3R ‘TALKED’ ! ‘$%@#!£’ feram Sirar 81 3t ge yrar & ‘D &t @ foran wimgem 2
Ans W 1.£

X 2.1

X 30

K4 %

Q.28 Egﬁamﬁmﬁﬁmwmﬁwm%aﬁ?wmwwm%lagﬁmﬁq-m%ﬁﬁwwﬁﬁﬂa
?

(AT &: B3l B IS UeH bl T eT-3eT fH fam, Jifspang gl wemait w ot 9t @fge Ie1. 13 - S=_m 13 W
TRFATE A 13 P SISHAVISTHIAON AT 311 fHar &1 a1 81 13 B 1 3R 3 T SeT-3E T 1 31, 3N e 1 iR 3 W
nﬁmuﬂﬁmmmﬁaﬁamﬁmﬁ?-l)

Ans ¢ 1.33,152
X 2.13,52
2 3.25,100
X 4.41,164

Q.29 fAmfefad uy # f9 u=1 & 915 | 3R 1| FHIfR & fepd 2T 1T &1 3mue! 7= @ fF fou T +u= 9w § 918 3 99=ud: 9
Tt | Srer wftd g g1 3! e 3w 8 f e-we-a ey aifde v 3 Ry v sy=/ay & orgar 878
DY:
PO J's, A's B

* PV A's, Bs%l
gt B's, C's

e
. $S C's, A's B
Il. $O B's, J's B
Ans X 1. %qd ey (1) HYT P ITER B

X 2.9 a0 e (1) SR A € (1) FYA & STIR g
& 3. $ad (5pY (1) FY P AR §1
2 4.6 (1) 3R (1), I U F AR B

Q.30 ﬁ?ﬁr@lﬁﬁ%‘ﬂm—wﬁﬁiﬁﬂm—wwaﬁ%aﬁ?wmwwm%lww-wmmaﬁmwhww@r
wefta [

Ans X 1. faemey - e
o 2. AR - e
X 3. 3 gdrd - Rfea®d

X 4. TR - 41T

Section : English Language and Comprehension

Q.1 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your answer.
Sincere students / like you and he should study / regularly to pass the examination.

Ans «" 1. No error
/5 2. regularly to pass the examination.
/5 3. like you and he should study
/5 4. Sincere students




Q.2 Select the most appropriate synonym of the given word.
Humble
Ans & 1. Keen
" 2. Modest
& 3. Beautiful
& 4. Amusing
Q.3 Parts of the given sentence have been underlined. One of the parts may contain an error. Select the option that rectifies the
error. If you don’t find any error, mark ‘No error’ as your answer.
It was the home minister of the country who took the decision to change a laws pertaining to migration of people from one
state to another.
Ans #< 1. an home minister
«" 2. the laws pertaining
#< 3. the migration
5 4. No error
Q.4 There is an error in the given sentence. From the options given, identify the sentence that corrects the error to make it a
grammatically accurate sentence.
This lesser known heritage building is so beautiful as the Red Fort.
Ans #5 1. This lesser known heritage building is very much beautiful as the Red Fort.
" 2. This lesser known heritage building is as much beautiful as the Red Fort.
/5 3. This less known heritage building is much beautiful than the Red Fort.
/5 4. This heritage building is as beautiful as the Red Fort.
Q.5 Select the correct spelling from the given options to fill in the blank.
He was going abroad for his further studies.
Ans /< 1. contempltaing
" 2. contemplating
/< 3. cuntemplating
/< 4. cuntempltaing
Q.6 Parts of the given sentence have been underlined. One of the parts may contain an error. Select the option that rectifies the
error. If you don’t find any error, mark ‘No error’ as your answer.
Those players who chose not to play in the league were banned from playing in an World Cup.
Ans " 1. the World Cup
/5 2. play in league
#5 3. No error
5 4. play in a league
Q.7 Parts of the given sentence have been underlined. One of them contains an error. The underlined parts are given as options
with some changes. Select the option that correctly rectifies the error.
The film received critical acclaim for being a more innovative movie of the year.
Ans 5 1. Film receives

«" 2. An innovative
5 3. Acclaim at
5 4. In the year.




Q.8

Ans

Select the most appropriate homonym to fill in the blanks of the given sentences.

A.lusea to weigh my ingredients while cooking.
B. The mountaineer is going to the rocky hills.

" 1.scale
& 2. horn

< 3. crawl
& 4. climb

Q.9

Ans

Select the most appropriate idiom that best explains the given sentence.
Rajat irritated the street dog so much that it was about to bite him.

& 1. If you can’t beat ’em, join 'em.
«" 2. If you play with fire, you'll get burned.
< 3. If you want something done right, you have to do it yourself.

& 4. Ifit ain’t broke, don't fix it.

Q.10

Ans

Select the most appropriate option that can substitute the underlined segment in the given sentence. If there is no need to
substitute it, select ‘No substitution required.’
| decided to call out to various bookstores in the area to see if any of them had the book | needed.

£ 1. call off

#< 2. call on

#< 3. No substitution required
" 4. call around

Q.11

Ans

Select the option that can be used as a one-word substitute for the given group of words/phrase.

A phrase or words written in memory of a person who has died
/< 1. Epigram
/5 2. Tombstone
" 3. Epitaph
/5 4. Calligraphy

Q.12

Ans

Select the option that can be used as a one-word substitute for the given phrase.
One who believes in fate

5 1. Superstitious
/5 2. Fatal

Z< 3. Flirt
" 4. Fatalist

Q.13

Ans

Select the option that can be used as a one-word substitute for the given group of words.

The inability to obtain adequate sleep
#< 1. Andromania

" 2. Insomnia
/5 3. Mythomania
25 4. Pyromania

Q.14
Ans

Select the sentence that has the correct use of words and spellings.

«" 1. The novel, with its intricate plot and multifaceted characters, captivated readers and left them pondering its deeper themes
long after they finished reading.

5 2. The novel, with its intrcate plot and multifaceted characters, captivated readers and left them pondering its deeper themes
long after they finished reading.

/< 3. The novel, with its intricate plot and multifacted characters, captivated readers and left them paundering its deeper themes
long after they finished reading.

/< 4. The novel, with its intricete plot and multifacted characters, captivated readers and left them pondering its deeper themes long
after they finished reading.




Q.15

Select the most appropriate idiom that best explains the given sentence.
| was unable to solve the geometry question myself. So, | have asked my teacher to help me out.

Ans & 1. You can’t always get what you want.
& 2. Two wrongs don’t make a right.
& 3. When the going gets tough, the tough gets going.
«” 4. Two heads are better than one.
Q.16 The following sentence has been split into four segments. Identify the segment that contains an error.
The committee requested / the Chief Investigator / to personally / look after the matter.
Ans #5 1. the Chief Investigator
«" 2. look after the matter
< 3. to personally
#< 4. The committee requested
Q.17 Select the option that expresses the given sentence in reported speech.
The captain said to the soldiers, “Follow the enemy.”
Ans " 1. The captain commanded his soldiers to follow the enemy.
#5 2. The captain requested his soldiers to follow the enemy.
#< 3. The captain said his soldiers to follow the enemy.
/5 4. The captain charged his soldiers to followed the enemy.
Q.18 Select the most appropriate option to fill in the blank.
Stanley to play the violin now, with an amateur instructor.
Ans X 1.willlearn
/& 2. had learnt
" 3. is learning
/< 4. was learning
Q.19 Select the option that will improve the given sentence by using the most appropriate pronoun.
Pradeep, whom is a teacher, also works as a content writer.
Ans " 1. Pradeep, who is a teacher, also works as a content writer.
/& 2. Pradeep, that is a teacher, also works as a content writer.
/& 3. Pradeep, whose is a teacher, also works as a content writer.
X 4. Pradeep, which is a teacher, also works as a content writer.
Q.20 Select the most appropriate ANTONYM of the given word.
Sharp
Ans 2 1.Handy
¥ 2. Blunt
/< 3. Kindled
< 4. Magnetic
Q.21 Choose the appropriate option to make the following sentence grammatically correct.
Neither of the biscuits you gave me chocolate chips.
Ans X 1.is contain
& 2. contain

/5 3. are contained

" 4. contains




Q.22

Select the option that expresses the given sentence in passive voice.
He is eating an apple.

Ans «" 1. An apple is being eaten by him.
/5 2. He has been eating an apple.
& 3. An apple was eaten by him.
& 4. He was eating an apple.
Q.23 Select the INCORRECTLY spelt word.
Ans 25 1. Susceptibility
5 2. Extemporise
£5 3. Inconspicuous
¥ 4. Superindednt
Q.24 Select the sentence that gives the most appropriate meaning of the idiom ‘In hot water’.
Ans < 1. The chef added spices to the dish to enhance its flavour and make it more delicious.
#< 2. The children enjoyed playing in the pool on a hot summer day.
«# 3. After accidentally breaking the valuable vase, Sarah found herself in trouble with her parents.
& 4. The company faced challenges due to the economic downturn but managed to overcome them.
Q.25 Select the most appropriate tense form to fill in the blank.
Mohnish and Ravi to Canada next month.
Ans < 1. has moving
/< 2. has move
" 3. are moving
< 4.is moving
Q.26 Select the option that expresses the given sentence in passive voice.
The team won the tournament after weeks of hard work and commitment.
Ans #5 1. The tournament had been won by the team after weeks of hard work and commitment.
#5 2. The tournament was winning by the team after weeks of hard work and commitment.
£5 3. The tournament was being won by the team after weeks of hard work and commitment.
& 4. The tournament was won by the team after weeks of hard work and commitment.
Q.27 Select the option that expresses the given sentence in indirect speech.
Rakesh said, “Wow! What a beautiful house”.
Ans #5 1. Rakesh exclaimed with sorrow that it was a beautiful house.
/5 2. Rakesh exclaimed with surprise that it was must be beautiful house.
" 3. Rakesh exclaimed that it was a beautiful house.
/5 4. Rakesh told that it had been a beautiful house.
Q.28 Select the option that expresses the given sentence in passive voice.
The rescue team could have completed the task if there had been uninterrupted power supply.
Ans 5 1. The task could be completed by the rescue team if there was uninterrupted power supply.

«" 2. The task could have been completed by the rescue team if there had been uninterrupted power supply.

5 3. The task could have to be completed by the rescue team if there was uninterrupted power supply.

/5 4. The task can have completed by the rescue team if there was uninterrupted power supply.




Q.29
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

Girls have been the 1. of many crimes in India for years. The most fearful crime was female foeticide, in which girls were
killed in the 2. of the mother after sex determination through ultrasound. ‘Save the Girl Child’ 3. has been
launched by the government to end gender-selective abortions of female foetuses as well as other crimes 4. the girl child.

SubQuestion No : 29
Select the most appropriate option to fill in blank number 1.
& 1. scapegoats

& 2. victims
X 3. sites
& 4. victors

Q.30
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

Girls have been the 1. of many crimes in India for years. The most fearful crime was female foeticide, in which girls were
killed in the 2. of the mother after sex determination through ultrasound. ‘Save the Girl Child’ 3. has been
launched by the government to end gender-selective abortions of female foetuses as well as other crimes 4. the girl child.

SubQuestion No : 30
Select the most appropriate option to fill in blank number 2.

& 1. liver
& 2. intestine

«" 3. womb
& 4. kidney

Q.31
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

Girls have been the 1. of many crimes in India for years. The most fearful crime was female foeticide, in which girls were
killed in the 2. of the mother after sex determination through ultrasound. ‘Save the Girl Child’ 3. has been
launched by the government to end gender-selective abortions of female foetuses as well as other crimes 4. the girl child.

SubQuestion No : 31
Select the most appropriate option to fill in blank number 3.
«" 1. campaign
& 2. enterprise
& 3. campfire
& 4. undertaking

Q.32
Ans

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

Girls have been the 1. of many crimes in India for years. The most fearful crime was female foeticide, in which girls were
killed in the 2. of the mother after sex determination through ultrasound. ‘Save the Girl Child’ 3. has been
launched by the government to end gender-selective abortions of female foetuses as well as other crimes 4. the girl child.

SubQuestion No : 32
Select the most appropriate option to fill in blank number 4.
#< 1. through

< 2. across
«# 3. against
& 4. for




Comprehension:

Read the given passage and answer the questions that follow.

Taekwondo is a form of empty hand martial arts combat that requires the athlete to use all parts of the body in competition.
Taekwondo is a self-defence discipline; the name is derived from the Korean words ‘tae’, meaning kick, ‘kwon’, a punch or other blow
with the hand or fist, and ‘do’, which is a way or method of operation. Among the general public, taekwondo is distinguished from other
martial arts by its high speed, sweeping kicks and emphatic punches. As with judo, taeckwondo was developed as a sport that is also
representative of a moral code, where principles of loyalty, faithfulness, respect, and the preservation of an indomitable spirit form a
significant part of taekwondo training. Beginning in 1945, shortly after the end of World War Il and Japanese Occupation, new martial
arts schools called kwans opened in Seoul. These schools were established by Korean martial artists with backgrounds in Japanese
and Chinese martial arts. At the time, indigenous disciplines (such as Taekkyeon) were being forgotten, due to years of decline and
repression by the Japanese colonial government. The umbrella term traditional Taekwondo typically refers to the martial arts practiced
by the kwans during the 1940s and 1950s, though in reality the term ‘Taekwondo’ had not yet been coined at that time, and indeed
each kwan (school) was practicing its own unique style of the Korean art.

SubQuestion No : 33

Q.33 Select the most appropriate synonym of the given word.
Representative
Ans «" 1. Typical
& 2. Aberrant
2 3. Unusual
& 4. Theoretical
Comprehension:
Read the given passage and answer the questions that follow.
Taekwondo is a form of empty hand martial arts combat that requires the athlete to use all parts of the body in competition.
Taekwondo is a self-defence discipline; the name is derived from the Korean words ‘tae’, meaning kick, ‘kwon’, a punch or other blow
with the hand or fist, and ‘do’, which is a way or method of operation. Among the general public, taekwondo is distinguished from other
martial arts by its high speed, sweeping kicks and emphatic punches. As with judo, taeckwondo was developed as a sport that is also
representative of a moral code, where principles of loyalty, faithfulness, respect, and the preservation of an indomitable spirit form a
significant part of taekwondo training. Beginning in 1945, shortly after the end of World War Il and Japanese Occupation, new martial
arts schools called kwans opened in Seoul. These schools were established by Korean martial artists with backgrounds in Japanese
and Chinese martial arts. At the time, indigenous disciplines (such as Taekkyeon) were being forgotten, due to years of decline and
repression by the Japanese colonial government. The umbrella term traditional Taekwondo typically refers to the martial arts practiced
by the kwans during the 1940s and 1950s, though in reality the term ‘Taekwondo’ had not yet been coined at that time, and indeed
each kwan (school) was practicing its own unique style of the Korean art.
SubQuestion No : 34
Q.34 What is Taekwondo a form of?
Ans /< 1. Visual arts
#5 2. Performing arts
" 3. Martial arts
45 4. Conceptual arts
Comprehension:
Read the given passage and answer the questions that follow.
Taekwondo is a form of empty hand martial arts combat that requires the athlete to use all parts of the body in competition.
Taekwondo is a self-defence discipline; the name is derived from the Korean words ‘tae’, meaning kick, ‘kwon’, a punch or other blow
with the hand or fist, and ‘do’, which is a way or method of operation. Among the general public, taekwondo is distinguished from other
martial arts by its high speed, sweeping kicks and emphatic punches. As with judo, taekwondo was developed as a sport that is also
representative of a moral code, where principles of loyalty, faithfulness, respect, and the preservation of an indomitable spirit form a
significant part of taekwondo training. Beginning in 1945, shortly after the end of World War Il and Japanese Occupation, new martial
arts schools called kwans opened in Seoul. These schools were established by Korean martial artists with backgrounds in Japanese
and Chinese martial arts. At the time, indigenous disciplines (such as Taekkyeon) were being forgotten, due to years of decline and
repression by the Japanese colonial government. The umbrella term traditional Taekwondo typically refers to the martial arts practiced
by the kwans during the 1940s and 1950s, though in reality the term ‘Taekwondo’ had not yet been coined at that time, and indeed
each kwan (school) was practicing its own unique style of the Korean art.
SubQuestion No : 35
Q.35 Select the most appropriate ANTONYM of the given word.
Indomitable
Ans #< 1. Strong

¥ 2. Submissive
/5 3. Invincible
45 4. Unstoppable




Comprehension:

Read the given passage and answer the questions that follow.

Taekwondo is a form of empty hand martial arts combat that requires the athlete to use all parts of the body in competition.
Taekwondo is a self-defence discipline; the name is derived from the Korean words ‘tae’, meaning kick, ‘kwon’, a punch or other blow
with the hand or fist, and ‘do’, which is a way or method of operation. Among the general public, taekwondo is distinguished from other
martial arts by its high speed, sweeping kicks and emphatic punches. As with judo, taeckwondo was developed as a sport that is also
representative of a moral code, where principles of loyalty, faithfulness, respect, and the preservation of an indomitable spirit form a
significant part of taekwondo training. Beginning in 1945, shortly after the end of World War Il and Japanese Occupation, new martial
arts schools called kwans opened in Seoul. These schools were established by Korean martial artists with backgrounds in Japanese
and Chinese martial arts. At the time, indigenous disciplines (such as Taekkyeon) were being forgotten, due to years of decline and
repression by the Japanese colonial government. The umbrella term traditional Taekwondo typically refers to the martial arts practiced
by the kwans during the 1940s and 1950s, though in reality the term ‘Taekwondo’ had not yet been coined at that time, and indeed
each kwan (school) was practicing its own unique style of the Korean art.

SubQuestion No : 36
Q.36 Which of the following is NOT a principle of Taeckwondo?
Ans  2< 1. Faithfulness

#5 2. Indomitable spirit
" 3. Disrespect

5 4. Loyalty

Comprehension:

Read the given passage and answer the questions that follow.

Environmental or genetic influences antisocial conduct of a human being , which has an impact on behaviour, such as conduct
disorder. In a recent study conducted, young people with conduct disorders had their brains examined, along with controls that were
healthy and did not have the disease. The thickness of various regions of the cortex and the brain’s outer layer was measured using
the scanned images. It was demonstrated in the study that conduct disorder is a psychiatric condition rather than adolescent
disobedience. Awareness, perception, attention, memory and language are all impacted by the cortex.

The findings of the study were unexpected. They demonstrated distinct disparities between adolescents whose behavioural issues
began in adolescence and those whose issues began earlier in life. Although both groups were different from healthy controls, it was
discovered that distinct regions of the cortex in the teenagers who had experienced early-onset behavioural issues were thicker in
comparison to the healthy participants.

SubQuestion No : 37

Q.37 Select the most appropriate summary of the sentence given below.
It was demonstrated in the study that conduct disorder is a psychiatric condition rather than adolescent disobedience.

Ans " 1. Conduct disorder is a mental condition rather than teen defiance.
/5 2. Conduct disorder is less of a mental condition and more of teen defiance.
#5 3. Conduct disorder is neither a mental condition nor teen defiance.

/5 4. Conduct disorder is teen defiance and not a mental condition.

Comprehension:

Read the given passage and answer the questions that follow.

Environmental or genetic influences antisocial conduct of a human being , which has an impact on behaviour, such as conduct
disorder. In a recent study conducted, young people with conduct disorders had their brains examined, along with controls that were
healthy and did not have the disease. The thickness of various regions of the cortex and the brain’s outer layer was measured using
the scanned images. It was demonstrated in the study that conduct disorder is a psychiatric condition rather than adolescent
disobedience. Awareness, perception, attention, memory and language are all impacted by the cortex.

The findings of the study were unexpected. They demonstrated distinct disparities between adolescents whose behavioural issues
began in adolescence and those whose issues began earlier in life. Although both groups were different from healthy controls, it was
discovered that distinct regions of the cortex in the teenagers who had experienced early-onset behavioural issues were thicker in
comparison to the healthy participants.

SubQuestion No : 38
Q.38 Which of the following is NOT impacted by the cortex?

Ans £ 1. Language and awareness
" 2. Attention and disobedience
5 3. Memory and attention

5 4. Memory and perception




Comprehension:

Read the given passage and answer the questions that follow.

Environmental or genetic influences antisocial conduct of a human being , which has an impact on behaviour, such as conduct
disorder. In a recent study conducted, young people with conduct disorders had their brains examined, along with controls that were
healthy and did not have the disease. The thickness of various regions of the cortex and the brain’s outer layer was measured using
the scanned images. It was demonstrated in the study that conduct disorder is a psychiatric condition rather than adolescent
disobedience. Awareness, perception, attention, memory and language are all impacted by the cortex.

The findings of the study were unexpected. They demonstrated distinct disparities between adolescents whose behavioural issues
began in adolescence and those whose issues began earlier in life. Although both groups were different from healthy controls, it was
discovered that distinct regions of the cortex in the teenagers who had experienced early-onset behavioural issues were thicker in
comparison to the healthy participants.

SubQuestion No : 39
Q.39 Which of the following was measured in scanned images?

Ans 25 1.Behavioural issues
#5 2. Cortex disparities
" 3. Brain’s outer layer

/5 4. Psychiatric condition

Comprehension:

Read the given passage and answer the questions that follow.

Environmental or genetic influences antisocial conduct of a human being , which has an impact on behaviour, such as conduct
disorder. In a recent study conducted, young people with conduct disorders had their brains examined, along with controls that were
healthy and did not have the disease. The thickness of various regions of the cortex and the brain’s outer layer was measured using
the scanned images. It was demonstrated in the study that conduct disorder is a psychiatric condition rather than adolescent
disobedience. Awareness, perception, attention, memory and language are all impacted by the cortex.

The findings of the study were unexpected. They demonstrated distinct disparities between adolescents whose behavioural issues
began in adolescence and those whose issues began earlier in life. Although both groups were different from healthy controls, it was
discovered that distinct regions of the cortex in the teenagers who had experienced early-onset behavioural issues were thicker in
comparison to the healthy participants.

SubQuestion No : 40

Q.40 Based on your reading of the passage, select the most appropriate option that describes the conclusion of the study.

Ans 5 1. There were participants having early behavioural issues in comparison to healthy students who had distinct regions in their
cortex.
" 2. Distinct regions of the cortex were thicker in the teenagers having early-onset behavioural issues in comparison to the healthy
participants.

£5 3. There were no distinct regions in the cortex of participants having early behavioural issues in comparison to healthy students.

5 4. There were distinct regions in the cortex of healthy students in comparison to participants having early behavioural issues.

Section : General Awareness

Q1 Wewid 3T WewIR (Platform of Platforms - POP) & @< ¥ Taftra fafef@a o & #9-1 Y9 Tt 82

:%W?ﬁ&ﬁ?ﬁ?ﬂﬁmﬁiﬁﬁm2022ﬁmﬁ?@ﬂﬁw(e-NAM)%Wﬂ&ﬁﬁ(POP)HﬁW&HﬁHﬁ
|

2) 1,%%WWW(FPOS)H?R37 FRIs A 3t FT 3ferdt e 9 fovam T, oy @1t 3.5 @ forar=il &t
AT BN
3) e-NAM JaT YETa13i & WeHIH &) "WehIRI & WehH F U § THIPpd Sl ¢, o Tua a1 verdr, aiiiesy Jar
WEIT, TUTaT ATYTH AT USTdT, TesdT, Juitewor, gyasor 3R TobfoiT JAar werar snfe e g1
4) S-S WBTH P 41 [T verar draidt (POP)%&HTTHGH%%', Fﬁﬁﬁﬁmﬁmw&ﬁ (value chain services)a@
YR, TUraIT o, Me™, e, IR &1 SFeRY, uRag 3fe &1 gfaur ver d &

Ans X 1.1,23R3
& 2.2,33R4
2 3.1,23R4
X 4.1,33R4

Q2 YHATYR SRR T AW, Forad R argf® & a1y, uis garsit iR wIT afed sign 3@ &1 frerar 81 ufym sma o g9
UPR GBI weTwrargl

Ans X' 1. HIdS (Mahawat)
< 2. (Loo)
& 3. TTd SUTE! (Kaal Baisakhi)
< 4. UIR® gAY (Trade winds)




Q.3

Ans

g i FafifEa sy T § ar el
PYT 1: YRA DI THIUMAT-2011 F FHR, T 961 TSI (Seven Sister States) A T, FIiwH & 1R« o3 9ad 3if¥w g1

FYT 2: URA DI THIUMAT-2011 F AR, fIgR & A1eRar o G99 $9 21

X 1. 3 SUT T §
X 2. paa YT 2 G ?
& 3. H IS §
X 4 PIADHYT1 GE ?

Q.4
Ans

YR Rord ¥ Bt RTgAT e g5 A2
2 1.1930

X 2.1951
& 3.1935
X 4.1948

Q.5

-l @ G-I F A Fens w0
- | ( TER T -1 (3rafe)

A, ane gfEeer 1. 1772-1785
B. &g sFeaTterd 2. 1786-1793
C. §T AT 2R 3. 1793-1798
D. &g ForTe 4. 1798-1805
Ans ww 1.A-1,B-2,C-3,D-4
KZ.A—4,B—3,C—2,D—1
}{FS.A—2,B—1,C—4,D—3
X 4A-2,B-1,C-3,D-4
O rdEe @er 2022 F et @, & o Ao F gefT Tt & 39 gE
S 71T gghi & Ay Ao w{ AR F@@r F5 T4
Eremsr g 9T 9k
a. fa=er ®EME  ( Vinesh Phogat) (i) =9, Fedr Afgem HrEeEd, 62kg
b. TSALT g‘ﬁ-’l‘-ﬂT ( Bajrang Punia) (ii) ToT, ?Fﬂ' Afger HrEerse, 53kg
c. @red Afe ( Sakshi Malik) (i) FI0T, Fec qoW WHrEerse, 86kg
d. &% gfaar (Deepak Punia) (iv) TI0T, Fer W HIEETE, 65kg
Ans K 1.a-i,b-ii,c-ii,d-iv

& 2.a-ii,b-iv,c-i,d-ii
X 3.a-iv,b-ii,c-i,d-ii
X 4.a-ii,b-iv,c-ii,d-i




Q7 HfyuH »1 gagR HNRAH P TGER S IAE BT 81 39 TR B GHAGI B AHG: _ peladr gl
Ans X 1. 3HfhT W YU (inert pair effect)

52 Hﬂ%ﬁﬁ%j’rﬁ BRI (isoelectronic species)

& 3. [a& Ul &Y (diagonal relationship)

X 4. 9O SI% (same Zeff)

Q8 IS B HH | FTHM BT SUYT AT S §iet ol
Ans 2 1. UTRITS (thyroid)

X 2. gaTei== (melatonin)

X 3. Ur=asfe (thrombopoietin)

X 4. TSR (adrenaline)

Q.9

e ST Iy @ 2023 # Al Ueat #, 398 gatg & & |
femer w1 3w F3 T

=T 3Th &
a. TAEA (i) 9o
b. #eT 92T (i) gfaara
c. ghamom (i) TIgY
d. MR (iv) FrT

Ans o 1.a-ii,b-iv,c-ii,d-i
5 2.a-iv, b-ii,c-i, d-ii
5 3.a-ii,b-iv,c-i, d-ii
&K 4.a-i, b-iii, c-ii,d-iv

Q.10 WHR B WU T AR TISAET (‘PM-JAY') TioHT FHafafead § 3 g wsy Hifa & e Rigial @ wefta 82
Ans X 1. GgHRI ATl Bl erdr &l

& 2. TN W & TN wR H gig HRAT1 3R ITH YR FHRAT I5T BT Had §

X 3. 3TN & gaieH | il 3 yriert

X 4. T <19 3R fA:3[ew ST Tgra

Q1 fay & MR (Mawsynram) & Ta& 3ifte i arfife auf g1t 8, Fife sma o @rdt &Y arRgt gang
URIST ¥ TRl 51

Ans & 1.3
X 2. ufyedf gre
X 3. BT ARTYR YSR
X 4. 3RTadt

Q.12 Which of the following statements about GDP and Welfare are correct?
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Ans

Q3 In computer memory, the width of the _ bus specifies the maximum possible memory supported by a system.
Ans X 1. /O

+ 2. address

X 3. data

/< 4. control




Q.4

Ans

-3 A, F=afef@a # @ siF-m/sia-a #@is 9 3ifkg deiwier (Post Office Protocol - POP) &
anfaer 282

|. ¥ A= (Delete Mode)
Il. $rT A (Keep Mode)
v 3T gt
Xegarldgadr

73 Fae |
X4 e |

Q.5

Ans

MS-Excel 365 #, &8 F TR 97 T Thd § F9 gF B F agel [ 30 TR & o
TFEr ¥eT IHIH (cell reference) Fr agele I1gd gl

< 1. VLOOKUP
<2 MATCH

< 3. TRANSPOSE
« 4 INDIRECT

Q.6

Ans

Fegel AN A, Wiy (CPU) @uT &7 AAN (main memory) & &I 9d (addresses) &1 FUHANA
(transfer) &t & forT 7 (bus) &1 39AeT &I Jrar gl

v 1. T3 (address)
X 2. el (control)
X 3. TeEq (status)
X 4. 22T (data)

Q7

Ans

g (CPU) Teat o1 et areh wfhae == & o AANT & @y @ gfAFAT (interact)
FT 2

X 1. ITFTET (register)
v 2 9IEAY (primary)
X 3. F (cache)

X 4 WHSY (secondary)

Q.8

Ans

T 11 7, 9g=g 3Eeq & FUT F F fow F=fof@g & @ &g Fe9E aidee 7 393eT G
1T 87

v 1. FAd + =8¢ (Ctrl + Insert)

X 2 @il + TeX (Ctrl + Enter)
X 3. fire + UeT (Shift + Enter)
X 4 e + 3=@c (Shift + Insert)




Q.9

Ans

MS-Excel 365 #, & &IaTAT & &= Heae (indicator) 2T & Sws v for 3T FHeA Bl
gl

X 1. Teh oS (single line)
2. 2IgLr S (double line)
X 3. g1 9T (double arrow)
X 4. T dr (single arrow)

Q.10

Ans

=T 11 & wse vFaea (File Explorer) H, BIal & &= & Tlell TATH F FH Fl & [@T,
View > view &7 TT BT SmaT

v 1 @FEdEe (Compact)

X 2. T (Stretch)
% 3 FA135 (Cloud)

x 4 aT5= (Wide)

Q.11

Ans

L3 ¥ Bv Rt § @ SRased e @ V9

|. ST3eTels T ¥ T8 TR, -7 gX (email header) #r S= & TehaT g

Il. TF TSR, TF A F HF T F TEAE FT TR 2

vi | AR Il g=t

X2 e
Xagarl AR AL
X4 e |

Q.12

Ans

fgT v gamue (URL) 1 Feafof@a & & &ia-ar &1 o "Saa aF (domain name)” 872
http://www.india.in/tallybook/tallybook.xyz

X 1. http:

« 2. www.india.in

x 3. tallybook

X 4. tallybook.xyz

Q.13

Ans

FRE 7 ¥ 59 TR F ware (firewall) #¢a% 93T (Network layer) o7 &3 #3 ge
TARTHIT JUT HTFEMST Yahe (packets) Fr F= FH1ar g2

v 1. e freefleT (Packet filtering)

X 2. gfepe - @Fer 3T (Circuit - level gateway)

X 3. TTellehel - oiger e (Application - level gateway)
X 4 Feas e (Network filtering)




Q.14

T FEGET FAH BT § Al Aeash W F-Hiagia (self-replicate) =T Hevar g 3T et
(propagate) TaT 2

Ans

X 1. g WeFeT AATH (boot sector virus)

X 2. Hr IIIATH (macro virus)
X 3. IS g (trojan horse)
v 4 A (worm)

Q.15

R vs wfaftea fe § B9 & =l #o7 afAa gar € & 1's o g=ar & @ &
v o7 g7 T B

AN X1 wifEceEEd (complementary)
X 2. TEFHF AT (exclusive)
v 3. 9T (parity)

X 4. =T (checker)
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[Exam Date 10/01/2024
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Subject ICHSL 2023 Tier II

Section : Mathematical Abilities

Q1 10 a¥f Ugd fUar Ft IRg IS YA Ft ARG BT oA T N1 g9 99 a1, a1 $ 31y 0D TF B 341G Bt g ghTt | IADT add=
3T BT SIUTd T 82
Ans K 1.5:2

K 2.5:3
53.3:2
ww4.7:3

Q.2 e %Y ged W I Iuar @ Afp a8 TG Ficl BT T4HT HdT @ 3R 3H UPR 28% PT ATY 3ifofd Har1 81 98 3.2 kg T &
Fed fbaa g (o) AR S @I R

Ans 25 1.2200
* 2. 1500
« 3. 2500
X 4.1900

Q.3 I UTSU U <P B SAT-3TT R UR HH: 36 FAT 3R 45 e # WR IFd &1 <Pt & T v e ursy ufa fire 40 diew
gt fFreTa doar 1 afe i ursy v 91y @id fRu g, @) do) U U H R STl @1 St Bt amanutiRar (eftex #) 3d P

Ans & 1.400
X 2.600
X 3.300
« 4. 1200

Q4 Tfe ue fode D 3@ & GG Y@rei &1 ufadfed Fdl @, 3R fade 3 ¥a1 & to &1 TR% & o 3Aidie SIvl & di" &1
3fAR 40° §, Y 3ATdf¥® HIvN # I BieT HIUT Jid PO
Ans X 1.50°
& 2.70°

X 3.60°
X 4.40°

Q5 A, B ®I33% ATY TR UH TSI 99T & 3R B S 20% B TR C &Y 99aT 81 f ¢ €532 BT YA ol &, dl A & foe v qey
T Y12

Ans «" 1.3500
X 2.%400
< 3.3800
< 4.3600



https://t.me/ixambeegk

A geie 3k mmEH @ RiFTEt F v waeEr & P softud gul geds & =ue $r wridear
iﬁaﬂ:mﬁmaﬁrmﬁmé%mﬁﬁﬁw#sﬁmﬁmﬂaﬁaﬁrmﬁmm
Fi=T

Ans
x 1. 22
15

vo 2
15

X3

x4 —

Q7 u® dd fIeH ST AMYR TP FHETE Y 2 R vds Yot 4 cm $1 21 i wef gty &=rea 120 cm? R, ) freq &1 emaa=
(cm® ®) 71 FfTCI

Ans & 1. 4[]\[:;
X 2.203
X 31043
X 43043

Q.8 HIw! 3R AT F You BT 3UTd 3: 4 8 3R TH URGR GRT IUHNT 't WM aTell IAP AT BT 3FUT 4: 7 31 HIB1 SR I W
B 9T 39 BT 3UTd F1d PIore|

Ans W  1.3:7
K 27:3
K 3.7:4
N

Q.9  16% TP ATYRY =TSl B &2 A 3w F 71 22,500 F Y=RIR fHaa a6t & 24,100 g w2
Ans o 1.4

X 2.6
X 3.3
X 4.5

Q.10 27,786 BT Y-RIA FI A, B 3R C & §14I 59 UHR TicT ATdT & foF A Pt U=R1RT 3R B FY 4=RIRI BT 3T 3 : 4 8 9UT B B
YRTIRT 3R C B} YRR BT SFUTd 12 : 13 F1 B ) It B areft R1fy fpait 82

Ans K01.%82,977
X 2.%5,038
o 3.32,748
X 4.37,138

a . (x%2-9) x (9x%- 1)

(x— )% (1-3)

x(“%;(ug) F TEFT T gl

Ans X 1.729
X 2.81
X 3.-81
o 4.-729




Q.12

Ans

TS 19 URT $1 Yfagd G2 F 1 h & 3 km Tewclt 3 3R URT T 3@ G0 F 12 min & 1 km Few<dt 1 779 S FRR 51 F 6 km
WM H B awa e

& 1.1h25min
& 2. 1h 30 min
& 3.1h15min
/5 4.1h20 min

Q.13

Ans

T Y & S HIN $1 119 3 : 7 F uTd A 1 91 3 ST AT BT TRT AR HI101 B AT F SRR 8, ) I SIel HIvr 1
Fiferal
X 1.36°

o 2.27°
X 3.3
X 4.9

Q.14

Ans

T GG U= SIS A §71 @ o1 3Mad= 512 99 5P1S ¢ | 99 9911 P forg fhaq a7f s1E SrTet &t Smazgehdr giRit?
X 1.348

X 2.288
& 3.384
< 4.328

Q.15

Ans

BT & T R TId BT U 2:1 81 e ITPT AT 3R 377 T HHIM: 20% SR 15% B IS Bl ], O ST I9a § wfor=raar
i wra B

X 1.35%
 2.30%
X 3.25%
X 4.20%

Q.16

Ans

% g1 §, 90% T U I1elT SRAIGaR 800 Hal & 3iaR A AT W4T 81 ST T $of Hall &1 T farait 82
o 3 g1 § Fad &t STGaR URT A IR & 3R A1 ifore waft wa du g1

2 1.1050

% 2.950

o 3. 1000

2 4.900

Q.17

Ans

3 3
3 _:,"Ir_ 33
343 ) x V216
( ) ( & AT AT HI=T|
X 1. 342
X2 423

X3 56
4 42

Q.18

Ans

VBT + [E24 [y [ e e A

10000 1000000

X 1.27.025
o 2.27.775
X 3.27.75

X 4.27.075




Q.19

Ans

TSP 3ATSH! 3 S S-S Saaieh fageii P 3R Q A HH: 60° 3N 30° P I7TT IV R faorell & T TN & X &7 eraaidd
far1 afg P 3k @ & T F gt 10 m 8, N TN B FA1E (m F) 79 BRI

xX1.5
X2 15
v 3 543
X 4.15v3

Q.20

Ans

6 & U 3MTS UISH HT 3R [T DI
X 1.30

X 2.24
X 3.25
& 4.27

Q.21

Ans

The distribution of 100 workmen employed in a factory according to their monthly salary, showed an average salary of
%4,500 per month. If the median salary is found to be ¥4,900, find the mode salary.

< 1.35,500
< 2.%5,800
& 3.35,700
X 4.35,600

Q.22

Ans

e =Tl &% Ugd 99 & g 2.5% wiar 9 ok gk ad & frg 29 wfer o 2, ot &t auf & 26,000 &1 ashqfs st 9a H1 |
& 1.3273

X 2.3135
< 3.3240
X 4.%270

Q.23

Ans

69 3 92 F T M ATe U FETHT BT N FTa BIfOTT
o 1.79

X 2.81
2 3.80
X 4.82

Q.24

Ans

S g4 &1 2fifed 45° F ga=m A 30° g1 3, A GUGT THIH IR TS TP AR D1 BT 40 m AP el 71 §1 TaR Y Ha1g
(Hiez #) 79 ST

v 1. 200/3+1)
X2 103-1)
X3.20(/3-1)
X 4103+ 1)

Q.25

Ans

fordpe B & 11 faefeal gRT IR MU A S TSR 2
7,16, 121, 51, 101, 81, 1, 16, 9, 11, 16
32T & ARSI BT 0T B

 1.16
X 2.22
% 3. 11
X 4.51




Q26 AXYZH, afe XY = 5cm, XZ = 7cm 3R Q, YZ IR & fig 390 UPR B fF XQ, 2 X & qufgvifora #war ?, 9t Ya : Qz &1 9 314
a1yl
Ans X 1.7:12
2.5:7
K 3.7:5
X 4.5:12

Q.27 %mgaaﬁ?ﬁmaﬁangmﬁﬂszaﬁ%;maﬁmﬁmaﬁanggaaﬁan‘gaﬁwwamﬁmgaaﬁa'chﬁang('qﬁﬁ)w
?

Ans X 1. 127T¢
X 2994
& 3.87T9
X 4.10T¢

Q28 uw fAifda fod W 27% B ge, 3R 20% TUT 10% Bt &Y HiA® Fel & o1 o7 Siav 56 UT| faa &Y «=RIRT 19 BICI
Ans 25 1.%1,866

o 2. 35,600
< 3.%5,500
X 4.31,120

Q.29 U furey ¥ 35 W-RAev1 TWie Tl Tied aH 40 HH=ial &1 SfHa 3a 24,000 21 T NR-R1evr T Gl 371 3iad
a1 24,200 g, <Y FIEITag & AW WP &1 3fd Ia4 71 o]

Ans X 1.32,300
X 2.%2,800
o 3.32,600
X 4.%3,600

Q30 TP G AAATPR S F} AT, TETS - 1.6 m, TS - 90 cm, FHATS - 60 cm &1 6 cm x 5 cm x 40 mm T AT AT B HH| BT
5 % 39 UoR U9 far o1 % a8 & 315 @rell wve = 2| o= & fan o Ao fpu o awa 72

Ans " 1.7200
/25 2.5600
/< 3.6500
/< 4.6000

Section : Reasoning and General Intelligence

Q.1 This question consists of a pair of words which have a certain relationship to each other. Select the pair from the options
which has the same relationship as the ones given below:

Bewilder: Confuse, Harmony : Concord
Ans 25 1. Fierce: Gentle

«” 2. Ponder: Contemplate
Z< 3. Timid: Bold
/< 4. Docile: Defiant




Q.2

Ans

e (A3 9 BT [IER0T I §U 82, 41 T T 8 | THH T BT TRV Hd §U 94, 47 A HafId & 1| THH dF BT AT
F3d U 66 FraferfEa # & frad afta 82

(AT &: TSl B IS UeH 3Dl T SeT-3eT fH fam, Jifsrang yol wemait w ot st @ifge Ier. 13 - T/ 13 W
TRFATE A 13 F SISHAIISTHIAON AT 31 fHar &1 a1 81 13 B 1 3R 3 H ST-3E T 4 31, 3N e 1 iR 3 W
nﬁmﬂﬁmmmﬁﬁamﬁqﬁ%)

X 1.43
X 2.13
& 3.33
X 4.23

Q.3

Ans

3He&RT & I9 Ao o gy, ot & ¥ fmen & R il § s € 8 @1 W @ar $ 8 e
GA_B M_PB SA_B YAB_ _AHB

2 1. CHFJK

X 2. MFGTY

2 3. AWBUY

o 4. JAVBE

Q.4

Ans

TP Y P F1G &l HIATsdi | 3N 11 HHITPd & | MU Y= A &Y 7T Tt I1a) B T7 A1 81, 3R HYF | €1 T PR &
TYR W Fofa a1 g1, 7% arfdhe wu @ fra FRar &1 s faan S g
FYT: AP R A Fieed $ SAR-TEME A TP B3 - fIggd IUBVT WRIE g 1T 3

?ﬁgﬁgﬁﬂﬁﬁlﬂﬁmmwsmmﬁm-mﬁﬁmwﬁﬁw&n%ﬁﬂwﬁwﬁam
ﬁ%qﬁm@maﬁwmﬁmﬁmaﬁm

2< 1.1 3R AE 1 BT SRR 5T ST A1

2< 2.1 3R 11 ST &7 SR fasan ST Amfe |

7< 3. %ad || T AIERO {1 ST AR |

o 4. I | BT SFTERVI BT S AR




Q5 g} A & arpfa A ouT T AR, wa Hid B X-Y & i war Wy, ot et § A s fiwew & w8 srpfa &1
Sia wffds ghme

AP

Ans




Q.6

Ans

fameal § <t ¢ 39 i #) vgaY O uy g (7) F RIM W @A W 491 difee 0 F g 8 s

{& © O@?
{

O} ‘

©
o 0

©

¢t @

©

=

@
vl 0

Q.7

Ans

T Hem | 9t 20 faemdf SR 9 ok g o v el Yar ® @S 71 A7 3 3R & SR W 103 WM W g, 9 Al a1
IR F BR V123 WM R §1 751 3R e & dta forant faendf w3 §2

xX1a
X 2.aH
X 3.TP
o 4. T it 75t

Q.8

Ans

e A3 ab BT GO0 Hd T 11, 55 A TafRId § | T qob BT SFHU B4 §U 12, 60 A Hafrd 3| U dcb BT SFER0T
HYd 8¢ 15 faferfEa o @ fraa Jafta 82

(AT 3: HEATSHl B I1P Ued P! B -3 fbu fa=, Afspare gl wemsii ur #1 s afgel 3. 13 - =M 13 W
TRFUTE S 13 H SSVHSTHIALON BT 1T a1 o1 THaAT 31 13 B 1 3R 3 H SET-3HET HA P, IR BT 1 W3 W
TiOTdg |fhang B B Srgafa 1Lt 8)

X 1.85

o 2.75

% 3.70

X 4.80




Q.9

Ans

R faw T YA iR frsw et t wrrgde ufdel smue) a8 f fRT T Sy T € TR 3 "rae: i aal & e wdld
B 81 1 ) g o § % da-aneta-& fesed @ifbe v 3 iy 1T sy & SaR 3781

DY:

PO Ufewi, u gl

Tt vy, whe g1

[aft wifer, uet &

s

1. B Uail, Whe gl

2. O TWe, wflewi g1

3. 90 e, TT gl
o 1. B 1, 2 3R 3, Wt Hl & AR B
2 2. st 1 3R 3, T HYUAl & SR B
X 3. Frpy 2 3R 3, S HU F SIER B

X 4.5y 1 3R 2, S HU F SIER B

Q.10

Ans

PR B! TP TMHR e i g=iis 7 fzmeit & R Y@ R rgHu=r: it orer § 3R feaR & 39 ¢ fvar wirar 21 was
R I8 BRI BT fGaTs 3

<




Q.11

Ans

E@mmﬁﬁmwwﬁm%mwwwwm%la‘sﬁmaﬁﬂ-m%ﬁﬁwwﬁmiﬁa
?

(AT &: TSl B IS UeH bl T SeT-feT fH fam, Jifsrang yol wemait w ot 9t @ifge Ie1. 13 - T=_m 13 W
TRHATE I 13 F SS/HSTHIATON BT 1T fHaT o1 THaAT 31 13 B 1 3R 3 H SET-HET A F1, AR e 1 SR 3 W
nﬁmmmﬁaﬁmﬂﬁ%n

& 1.31-280
X 2.14-126
X 3.25-225
X 4.12-108

Q.12

Ans

A, B, C, D, E 3R F U% g1 SHRA & B: 3-[N HTA W T8 & | THRT & 9ad d A1 BT HHIS 1, 3T 319 SHUR ardl AT
mmzﬁaﬁmaﬁwﬁgaﬁaﬁmﬁmmsélEwﬁwmmﬁm@rwm%maﬂwsm@f
AT IR T8 81 81 E 3R ¢ & & # Pad U Afda Ted1 21 D, F b 31 SHUWR @1 21 B, C & K ard AT W IgaT 81 A J9d
U AT W 8 8T 81 a9 HUI A W P g1 82

X 1.B
o 2.D
X 3.A
X 4.C

Q.13

Ans

TP e § TP &R BT Hhad TP IR TART HIP ‘SAVOUR’ Vg P Ugd, 1Y, TiEa 3R TS &R (a1 3R 9 1€ ok =
TR) BT TORT P TR &RY arat fha A1 Sl 2eg 91T S FHd 82

o 1.3
X 2. t& Hi 73
X 3.3 YD
X 4.0

Q.14

Ans

%@mmﬁmﬁ%mmwﬁwéaﬁvwwwwm%a‘gﬁmﬁq-méﬁﬁwwﬁﬁﬁﬁa
?

(AT &: WISl B 3P gD bl W er-3ren fopy fa, fspart gof TRemsit wr #t sl wfgel Sar. 13 - T 13 R
TRFATE A 13 F SSVHSTIAON BT 31T a1 o1 THa1 31 13 B 1 3R 3 H SET-HET HA FI, IR BT 1 SR 3 W
i ifbaTe B3 A el T R1)

o 1.524-260
X 2.364-182
X 3.986-493
X 4.438-219

Q.15

Ans

w Af¥a e o d, ‘KENT &Y ‘94*7° 3R ‘BENT & ~~79’ foran Sirar 81 3¢t e urer & ‘B’ &) Tt foran w2
X1
X 29
K3
4.~

Q.16

Ans

3HeRT & I T Bt gg o & 18 skaen & o Wil # wie w0 @ @ i) g@an gt g et
CB_WV_SP _NLIHG_BA_XU

< 1. XUOEY

« 2. ZUOEZ

< 3. XUOFY

2 4. XUOEZ




Q17 uw fAfdd pe uraT H, 14378’ H1 IDOL’ 3R 7832’ HY IDLE’ foram Sirar 81 3¢t He Hrar & «2° Y 7 foram Smgmme
Ans SO
o 2.E
53.0
X 4L
Q.18  3Irpfa A Te fAifda S § epfa B @ Heiftra 81 St ¥ & SgER, 3mepfa ¢, 3mepfa b & Taflia g1 e &1 sreag= P 3ix
I AT B gAY, ST NPT D & I W 31 FHdl 3
B .1 | |
: T‘-"'::..\.. o ¢ .;,,"‘\F | © .
(B) (C) (D)
Ans
jFE;
X 1. y
4
k')
X2 ‘::J E\:
A
o 3. | &~
X 4 A—Ij]—v
Q.19 U fAf¥a ad BT SR B §U 4, 40 A ARG B | THH qb BT SJHRUT B §U 12, 120 I WU 81 U db BT ATIR0T
H3d U 15 FraferfEa & J fead Gafta 32

(AT &: TSIt B 3P gD bl W eT-3ren fopy fa, iftpant gouf TRemsit wr #t @it afgel Sar. 13 - BT 13 R
TRFATE S 13 F SISHAIISTHIAON HRAT 31T fHar ST a1 81 13 B 1 3R 3 H S-S T 4 31, 3N e 1 iR 3 W
Tfordta JfSrang w1 #t srgufa 8 @)

Ans 25 1.200
x 2.205
 3.100

o 4. 150




Q.20

Ans

I WG-gi FT 999 P oY T AT 710 2red) & i N oo fpT 1T U Hey BT 9a 33T fAReqor Har 3|
(3l oY Srdyuf S wredf & T & 9T ST ART 3R I= WS A 3gR) P TI/HEHHIRER) 1 TSI S YR W TH gl §
e T8I fpan S afgul)
T ST : TGP AT, UTAH-UN0T HAT: NN HAT

X 1. 3wfq : gy

2. BIRAR : TR

X 3. gadur: faRy

X 4. g% SeltaH

Q.21

Tfe «+ 3R - D) TIH H TG 3T S1E a7 <’ 3+ P MUY & dgd f3ar wie o Fuafafad gfieu & <2 & _E w R
STT?

163 +5+147x7-19=2

Ans & 1.819
o 2.813
& 3.817
X 4.816
Q.22 i3 fy T YA AR Frewl B eryde ufew smuwt 9 8 ¥ 3T T8 Fu T § 918 3 ARG Jrd aa | e vl

Ans

gha gl 3mus g w31 8 fF S-araa-3 ey aifbs ¥ 3 Re U sy=/ay=i & ar 878 |

DY

Tft I, SragEn g1
PO ATIGER, I T
o I, TR g1

e

1. 99 39, ATIFENR
2. @ft anrgaEn, A9 F
3. %o IRTd, 39 g1

X 1. Paa =y 1, HY P STER B
X 2. Paa ey 3, Y P SER B
o 3. TP 1 3R 3, T Bl & SIER B
X 4. Paq ey 2, HY P AR B

Q.23

&R} & I T B gAY, R & 18 e F Rraa Rl & Hie 0 3 @ W) g@ar it g S|

C_EF HNE_ _NEP RN_U WNE_

Ans X 1.FHOSM
X 2. CAHKL
o 3. NKMEZ
X 4. PAWER
Q24 2 Ry T HY 3R rgATHl Y ufeu| 3w AT @ o Bye & & TS SR e § 918 9% WHI=e: Jid aat @

Ans

SIS Ul BYelt 811 STUeh R4 -1 8 fF U= A SI9-9T1 U T o Wbl 2

(3TA PO AT 2 W A IR W 7 B 741 € Afe By # T T auiSert | ure fear o wehdr 21)
S G TR W 3o ard Sig g B

ST
I. P T T aTel i B
I1. it T Yo AT ofta WY 819 B
2< 1.%ad (Il)

% 2. (1) 3R (1), A

X 3.Fdr) sRAS ()

o 4. ad ()




Q.25

Ans

Tfg «+ 3R DY TUY | g 34T ST U1 x’ 3 =’ &Y MUy § g faar oe ) Frufifad gfiexu d <2 & WA w |
STQM?

617+3-84+515x5=7
X 1.1838
X 2.1836
o 3.1832
X 4.1834

Q.26

Ans

W?W-Wﬁﬁmm-wwﬁﬁﬁwmwwm%wm-wmmaﬁmﬁﬁwwﬁ
Feifera [

2 1.4 -9¢U

X 2. O - didd

X 3. HUS - awiRar

o 4. T1aE — @

Q.27

Ans

E@@aﬁﬁﬁﬁmﬁwﬁm%eﬁ?sﬂwwwm%}agenq;ﬁraﬁ-—r-@ﬁ%wﬁwwﬁﬁdﬁa

el S
(A) (B) (C) (D) (E)
 1.B
X 2.C

X 3.D
X 4.E

Q.28

Ans

Th HY P 1< | 3R || PHiTPd g Fepd fqu 7T 2| J1a P {5 3T T Y= F YR R SH-a17HH-3 ey I3 28|
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Section :

English Language and Comprehension

Q.1 Select the most appropriate ANTONYM of the given word.
Denote
Ans #5 1. Convey
#5 2. Convince
" 3. Conceal
< 4. Conclude
Q.2 The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your answer.
A man who has been accused of fraud / in an earlier job, he will never be / welcome in any other organisation.
Ans " 1.in an earlier job, he will never be
/5 2. Aman who has been accused of fraud
/< 3. No error
/< 4. welcome in any other organisation
Q.3 Identify the INCORRECTLY spelt word in the following sentence and select its correct spelling from the given options.
The remoteness of the location made it difficult for the authoreties to reach out to the people.
Ans «" 1. authorities
#< 2. locasion
25 3. remotness
25 4. deficult
Q.4 Select the option that expresses the given sentence in passive voice.
Perumal has given a challenging assignment to the newly admitted students.
Ans /5 1. A challenging assignment had been given by Perumal to the newly admitted students.
" 2. A challenging assignment has been given by Perumal to the newly admitted students.
/< 3. A challenging assignment was given by Perumal to the newly admitted students.
/5 4. A challenging assignment will have been given by Perumal to the newly admitted students.
Q.5 Select the most appropriate idiom that means the same as the given sentence.
Shyama looks innocent, but in reality, she is cunning.
Ans /5 1. Beauty lies in the eyes of the beholder.

" 2. Don't judge a book by its cover.
/5 3. Don't put all your eggs in one basket.

/< 4. Fortune favours the brave.




Q.6 Select the option that can be used as a one-word substitute for the given group of words.
A sudden violent event that brings about great loss or destruction
Ans 5 1. Intrigue
#< 2. Blockbuster
«# 3. Catastrophe
5 4. Farce
Q.7 Select the most appropriate option that best expresses the meaning of the proverb in the given sentence.
The salesperson for the project offered a sneak peek of the project as we expressed our interest in the area and amenities.
Ans #5 1. To try something new
#5 2. To be in a winning position
" 3. Getting a preview of something
< 4. Sending a brief letter
Q.8 Select the option that expresses the given sentence in reported speech.
Anil said to Ria, “lI know where everything is kept in the kitchen.”
Ans #5 1. Anil told Ria that he knows where everything was kept in the kitchen.
#5 2. Anil asked Ria that he knows where everything was kept in the kitchen.
#< 3. Anil told Ria that he knew where everything is kept in the kitchen.
" 4. Anil told Ria that he knew where everything was kept in the kitchen.
Q.9 Select the option that can be used as a one-word substitute for the given group of words.
Someone who has too much admiration for himself or herself
Ans «" 1. Narcissist
& 2. Misanthropist
/& 3. Pantheist
< 4. Misogamist
Q.10 Select the most appropriate option to fill in the blank.
Currently, Mittu and Bittu hard to meet the project deadline.
Ans ¥ 1. are working
< 2. have worked
< 3. were working
< 4. worked
Q.11 Select the most appropriate option to fill in the blank.
| did not to university yesterday.
Ans 1. went
5 2.gone
# 3. going
« 4.90
Q.12 Select the option that converts the given sentence into the superlative degree.
The river Ganga has some of the purer water on earth.
Ans #< 1. The river Ganga has some of the very purest water on earth.

«" 2. The river Ganga has some of the purest water on earth.
#< 3. The river Ganga has some of the most purest water on earth.

#< 4. The river Ganga has some of the more purest water on earth.




Q.13
Ans

Select the sentence that gives the most appropriate meaning of the idiom ‘Keep your chin up’.

" 1. Despite facing setbacks, she remained positive and determined to achieve her goals.
£5 2. The scientist conducted experiments and gathered data to support his research hypothesis.
#5 3. The students diligently completed their homework assignments before the deadline.

#5 4. The hiker enjoyed the breathtaking view from the mountaintop, taking in the natural beauty.

Q.14

Ans

Select the most appropriate synonym of the given word.

Serene
& 1. Angry
X 2. Agitated
/& 3. Chaotic
" 4. Calm

Q.15

Ans

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options.

While astrology has/ a long history / it is generally/ considered pseudoscience.
/< 1. along history

«# 2. considered pseudoscience
5 3. While astrology has

& 4. itis generally

Q.16

Ans

Select the correct spelling of the underlined word in the given sentence.
He made a sureptitiuos phone call while his boss was out of the room.

«" 1. surreptitious
& 2. surreptitous
/< 3. sarreptitious
< 4. sureptitious

Q17

Ans

Select the most appropriate phrasal verb to fill in the blank.
The teacher asked the students to their essays before the deadline.

& 1. landin
%" 2. hand in
/5 3. hand up
& 4. put off

Q.18
Ans

Select the INCORRECTLY spelt word.
& 1. Profligate

£ 2. Quandary
" 3. Lisentious
5 4. Maxim

Q.19

Ans

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options.

It is a well-known fact/ that the Monarchy is / not the best form /of governance.
£ 1. Itis a well-known fact
< 2. not the best form
< 3. of governance.

" 4. that the Monarchy is




Q.20 Select the most appropriate option to fill in the blank.
The war badly damaged the country’s infrastructure.
Ans «" 1. has
& 2. was
& 3.is
& 4. have
Q.21 Select the option that expresses the given sentence in passive voice.
They built a new house last year.
Ans & 1. Anew house is being built by them last year.
/5 2. They had been building a new house last year.
5 3. Anew house was being built by them last year.
«" 4. Anew house was built by them last year.
Q.22 Select the most appropriate synonym of the given word.
Decadence
Ans & 1. Liberate
5 2. Flowering
" 3. Decline
/& 4. Dispirited
Q.23 Select the most appropriate phrasal verb to fill in the blank.
The teacher asked the students to their ideas during the class discussion.
Ans " 1. bring up
5 2. bring about
& 3.geton
& 4. put off
Q.24 Select the most appropriate tense form to fill in the blank.
Tania to the canteen.
Ans & 1. were going
& 2. were gone
5 3. had going
«¥ 4. was going
Q.25 Select the option that can be used as a one-word substitute for the given group of words/phrase.
A drug or other substance that induces sleep
Ans " 1. Sedative
5 2. Stimulant
#5 3. Energetic
5 4. Reviver
Q.26 Select the option that expresses the given sentence in passive voice.
The teacher will explain the lesson tomorrow.
Ans 5 1. The lesson is being explained by the teacher tomorrow.

«" 2. The lesson will be explained by the teacher tomorrow.
#5 3. The lesson will have been explained by the teacher tomorrow.

5 4. The lesson was explained by the teacher tomorrow.




Q.27

The following sentence has been divided into parts. One of them may contain an error. Select the part that contains the error
from the given options. If you don’t find any error, mark ‘No error’ as your answer.
| have three sisters: / Meera is the elder / and Charu is the youngest.

Ans 5 1. and Charu is the youngest
5 2. No error
«" 3. Meera is the elder
< 4.1 have three sisters:
Q.28 Select the option that expresses the given sentence in reported speech.
He said to the mechanic, “Will you have the car ready by tomorrow morning?”
Ans 5 1. He told the mechanic if he will have the car ready for the next morning.
#5 2. He said the mechanic whether he would has the car ready by the following morning.
" 3. He asked the mechanic if he would have the car ready by the next morning.
#< 4. He asked the mechanic if he will have the car ready by the previous morning.
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.
He looks out of the window at the (1) snow, then turns and takes his wife in his arms, feeling grateful to be here even as he
wonders what he is going to do with his life in strictly practical terms. For years, he had (2) himself to do one thing, and he
did it well, but he doesn't know whether he wants to keep doing it for the rest of his life, for that matter, whether anyone will let him. He
is still worrying when they go to bed.
They've been learning to get by with less, and they'll keep learning. It seems to him as if they're taking a course in loss lately. And as
he feels himself falling asleep he has an (3) he believes is important, which he hopes he will remember in the morning,
although it is one of those thoughts that seldom (4) translation to the language of daylight hours.
SubQuestion No : 29
Q.29 Select the most appropriate option to fill in blank no. 1.
Ans 25 1.praying
¥ 2. falling
#5 3. dashing
5 4. blazing
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.
He looks out of the window at the (1) snow, then turns and takes his wife in his arms, feeling grateful to be here even as he
wonders what he is going to do with his life in strictly practical terms. For years, he had (2) himself to do one thing, and he
did it well, but he doesn't know whether he wants to keep doing it for the rest of his life, for that matter, whether anyone will let him. He
is still worrying when they go to bed.
They've been learning to get by with less, and they'll keep learning. It seems to him as if they're taking a course in loss lately. And as
he feels himself falling asleep he has an (3) he believes is important, which he hopes he will remember in the morning,
although it is one of those thoughts that seldom (4) translation to the language of daylight hours.
SubQuestion No : 30
Q.30 Select the most appropriate option to fill in blank no. 2.
Ans X 1. abstained

/< 2. penalised
" 3. trained

/5 4. mesmerised




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.

He looks out of the window at the (1) snow, then turns and takes his wife in his arms, feeling grateful to be here even as he
wonders what he is going to do with his life in strictly practical terms. For years, he had (2) himself to do one thing, and he
did it well, but he doesn't know whether he wants to keep doing it for the rest of his life, for that matter, whether anyone will let him. He
is still worrying when they go to bed.

They've been learning to get by with less, and they'll keep learning. It seems to him as if they're taking a course in loss lately. And as
he feels himself falling asleep he has an (3) he believes is important, which he hopes he will remember in the morning,
although it is one of those thoughts that seldom (4) translation to the language of daylight hours.

SubQuestion No : 31

Q.31 Select the most appropriate option to fill in blank no. 3.
Ans «" 1. insight
< 2. instance
25 3. implication
5 4. insurance
Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and select the most appropriate option to fill in
each blank.
He looks out of the window at the (1) snow, then turns and takes his wife in his arms, feeling grateful to be here even as he
wonders what he is going to do with his life in strictly practical terms. For years, he had (2) himself to do one thing, and he
did it well, but he doesn't know whether he wants to keep doing it for the rest of his life, for that matter, whether anyone will let him. He
is still worrying when they go to bed.
They've been learning to get by with less, and they'll keep learning. It seems to him as if they're taking a course in loss lately. And as
he feels himself falling asleep he has an (3) he believes is important, which he hopes he will remember in the morning,
although it is one of those thoughts that seldom (4) translation to the language of daylight hours.
SubQuestion No : 32
Q.32 Select the most appropriate option to fill in blank no. 4.
Ans £ 1. install

#< 2. fabricate
«" 3. survive
25 4. proliferate

Comprehension:

Read the given passage and answer the questions that follow.

Leadership does not exist without followership. A leader has to be accepted by the group which the former is supposed to lead. To
gain acceptability, the leader should cause an emotive impact on the group members. The strength of character exhibited by leaders
makes them dear to their followers. A leader is one who effectively inspires followers to achieve worthwhile things. What character of
the leader motivates the followers? It is not pomp and show, neither flattery nor sanctioning more incentives. Pomp and show creates
a sense of awe and the leader is deified rather as emulated. Flattery is unrealistic and cannot serve as a long-term motivational tool. A
leader’s style should be one that can be emulated by all irrespective of cadre, class and calibre. Simplicity in one’s day- to- day
conduct is the only thing that can be adopted by all.

SubQuestion No : 33

Q.33 According to the passage, why should the leader generate an emotive impact?

Ans

#< 1. To exhibit the character of his followers
" 2. To gain acceptance by the members of the group
#< 3. To mould the character of a leader

#< 4. To acquire social knowledge




Comprehension:

Read the given passage and answer the questions that follow.

Leadership does not exist without followership. A leader has to be accepted by the group which the former is supposed to lead. To
gain acceptability, the leader should cause an emotive impact on the group members. The strength of character exhibited by leaders
makes them dear to their followers. A leader is one who effectively inspires followers to achieve worthwhile things. What character of
the leader motivates the followers? It is not pomp and show, neither flattery nor sanctioning more incentives. Pomp and show creates
a sense of awe and the leader is deified rather as emulated. Flattery is unrealistic and cannot serve as a long-term motivational tool. A
leader’s style should be one that can be emulated by all irrespective of cadre, class and calibre. Simplicity in one’s day- to- day
conduct is the only thing that can be adopted by all.

SubQuestion No : 34

Q.34 Select the best summary of the passage?
Ans /& 1. Administrative knowledge is essential for the followers to get success.
/& 2. Aleader’s style cannot serve as a long-term motivation among the group.
/< 3. Motivation is the innate quality that enables an individual to be intellectually strong.
«" 4. Aleader effectively inspires and guides his followers to achieve desired goals.
Comprehension:
Read the given passage and answer the questions that follow.
Leadership does not exist without followership. A leader has to be accepted by the group which the former is supposed to lead. To
gain acceptability, the leader should cause an emotive impact on the group members. The strength of character exhibited by leaders
makes them dear to their followers. A leader is one who effectively inspires followers to achieve worthwhile things. What character of
the leader motivates the followers? It is not pomp and show, neither flattery nor sanctioning more incentives. Pomp and show creates
a sense of awe and the leader is deified rather as emulated. Flattery is unrealistic and cannot serve as a long-term motivational tool. A
leader’s style should be one that can be emulated by all irrespective of cadre, class and calibre. Simplicity in one’s day- to- day
conduct is the only thing that can be adopted by all.
SubQuestion No : 35
Q.35 Which of the following desired qualities of a leader is mentioned in the passage?
Ans «" 1. Simplicity
/5 2. Pomp and show
/5 3. Flattery
/5 4. Deified
Comprehension:
Read the given passage and answer the questions that follow.
Leadership does not exist without followership. A leader has to be accepted by the group which the former is supposed to lead. To
gain acceptability, the leader should cause an emotive impact on the group members. The strength of character exhibited by leaders
makes them dear to their followers. A leader is one who effectively inspires followers to achieve worthwhile things. What character of
the leader motivates the followers? It is not pomp and show, neither flattery nor sanctioning more incentives. Pomp and show creates
a sense of awe and the leader is deified rather as emulated. Flattery is unrealistic and cannot serve as a long-term motivational tool. A
leader’s style should be one that can be emulated by all irrespective of cadre, class and calibre. Simplicity in one’s day- to- day
conduct is the only thing that can be adopted by all.
SubQuestion No : 36
Q.36 Select the most appropriate synonym of the given word.
Emulate
Ans 25 1. Exhibit
" 2. Imitate
& 3. Relax

5 4. Suppose




Comprehension:
Read the given passage and answer the questions that follow.

In 1888, an Atlantic contributor made the case for a “science of names.”

“Parents are strangely careless and unscientific in giving names to children,” the contributor complained. “They forget that not only
from the social point of view it is very advantageous to have one’s name remembered, but that from the business point of view
notoriety is capital, and must be obtained by persistent and ingenious advertising.” Indeed, the contributor argued, a good name will
give a child “a start in life equivalent to a cash capital of at least fifteen thousand dollars.” One way to ensure this head start? “Be
guided by euphonic quality only.”

Although not all of this contributor’s guidance can or should still apply today, the importance of a name to a child’s identity has stayed
front of mind for many parents. A name can determine whether a child fits in or stands out—and many parents differ on which of those
outcomes is preferable.

SubQuestion No : 37

Q.37 What is the tone of the speaker in the passage?
Ans & 1. Humorous
X 2. Sarcastic
«” 3. Persuasive
/& 4. Melancholic
Comprehension:
Read the given passage and answer the questions that follow.
In 1888, an Atlantic contributor made the case for a “science of names.”
“Parents are strangely careless and unscientific in giving names to children,” the contributor complained. “They forget that not only
from the social point of view it is very advantageous to have one’s name remembered, but that from the business point of view
notoriety is capital, and must be obtained by persistent and ingenious advertising.” Indeed, the contributor argued, a good name will
give a child “a start in life equivalent to a cash capital of at least fifteen thousand dollars.” One way to ensure this head start? “Be
guided by euphonic quality only.”
Although not all of this contributor’s guidance can or should still apply today, the importance of a name to a child’s identity has stayed
front of mind for many parents. A name can determine whether a child fits in or stands out—and many parents differ on which of those
outcomes is preferable.
SubQuestion No : 38
Q.38 According to the contributor, the parents are strangely careless and unscientific in giving names to children because
Ans " 1. they do it without considering the business point of view

5 2. they do it without discussing it with their relatives and friends
£5 3. they do it without considering the latter’s interest in it

5 4. they do it without considering the actual meaning of the name

Comprehension:
Read the given passage and answer the questions that follow.

In 1888, an Atlantic contributor made the case for a “science of names.”

“Parents are strangely careless and unscientific in giving names to children,” the contributor complained. “They forget that not only
from the social point of view it is very advantageous to have one’s name remembered, but that from the business point of view
notoriety is capital, and must be obtained by persistent and ingenious advertising.” Indeed, the contributor argued, a good name will
give a child “a start in life equivalent to a cash capital of at least fifteen thousand dollars.” One way to ensure this head start? “Be
guided by euphonic quality only.”

Although not all of this contributor’s guidance can or should still apply today, the importance of a name to a child’s identity has stayed
front of mind for many parents. A name can determine whether a child fits in or stands out—and many parents differ on which of those
outcomes is preferable.

SubQuestion No : 39

Q.39 Select the most appropriate word in the passage which means ‘pleasing and sweet sound’.

Ans

5 1. Outcomes

" 2. Euphonic

£5 3. Advantageous
5 4. Identity




Comprehension:
Read the given passage and answer the questions that follow.

In 1888, an Atlantic contributor made the case for a “science of names.”

“Parents are strangely careless and unscientific in giving names to children,” the contributor complained. “They forget that not only
from the social point of view it is very advantageous to have one’s name remembered, but that from the business point of view
notoriety is capital, and must be obtained by persistent and ingenious advertising.” Indeed, the contributor argued, a good name will
give a child “a start in life equivalent to a cash capital of at least fifteen thousand dollars.” One way to ensure this head start? “Be
guided by euphonic quality only.”

Although not all of this contributor’s guidance can or should still apply today, the importance of a name to a child’s identity has stayed
front of mind for many parents. A name can determine whether a child fits in or stands out—and many parents differ on which of those

outcomes is preferable.

SubQuestion No : 40
Q.40 What will be given to a child if he gets a good name?
Ans «" 1. Aheadstart in life

& 2. A good bank balance
& 3. Aperfect address
& 4. A professional attitude

Section : General Awareness

Q1 WIS 3R ol B FH F RO I TR SNV H PRI 3|
Ans v 4 1.{@@1'[ (Marasmus)

X 2. BIRISRDR (Kwashiorkor)

& 3. URTAUA (dementia)

25 4. Y& (wasting)
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Q.6 In September 2022, the Daspara village in — which is solely dependent on agriculture and fishery — was converted
to a nature-based lifestyle and livelihood while reducing the use of chemical fertilisers, becoming India’s first modified bio
village.
Ans «” 1. Tripura
5 2. West Bengal
5 3. Odisha
5 4. Andhra Pradesh
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Q.9 Which is NOT a Directive Principle to be followed by the State for policy-making?
Ans 5 1. Equal pay for equal work

< 2. The ownership of material resources of the community are for common good
" 3. The operation of economic system results for concentration of wealth

#< 4. Tender age of children is not abused




Q.10 Which of the following statements about transfer payments are correct?
1) Transfer payments are made by the government to households.
2)Pension, scholarship etc. are not a part of the transfer payments.
3) Transfer payments are often used as a means of redistributing income within a society.

Ans 2 1.2and 3 only
K 2.1,2and 3
«" 3. 1and 3 only
# 4.1and 2 only

Q.11 In the energy flow diagram of an ecosystem, the flow of energy comes to herbivores from:
Ans #5 1. top carnivores

#5 2. carnivores
" 3. producers
< 4. sunlight

Q.12 Which organisation in India holds the responsibility for setting the maximum residue limits (MRLs) of pesticides in food

materials?
Ans «" 1. Food Safety and Standards Authority of India (FSSAI)

#5 2. Indian Statistical Institute (ISI)
#< 3. Ministry of Food Processing Industries
/% 4. Food Corporation of India (FCI)

Q.13 TH 100 mL °Id & 0.01 Wit NaOH AT g3 & | &1e BT pH fora=11 gHI?

Ans X 1.2
o 2.13
X 3.1
X 4.10
Q.14

What is mainly responsible for the increase in the greenhouse effect?

Ans X 1. Chlorofluorocarbon content is rising

X 2. Ozone layer hole
X 3. Increasing SO, levels

« 4. Increasing CO, concentration

Q.15 el TSP W 10 km/h B A1 A T Sl §E Tb a9 2 frTe A a1t 70 km/h T qET St & 1 9 BT 3 w@RUT
(acceleration)ﬂﬁﬂﬁﬁml

Ans X 1.1 km/min?
X 2.30 km/min?
& 3. 0.5 km/min?
X 4.2 km/min?




Q16 Match the following Acts/Policies with the respective years in which they were put into place.

Acts/Policies Year

A. Pitt’s India Act 1. 1784
B. Permanent Settlement of Bengal 2.1793
C. Introduction of the Subsidiary Alliance System 3. 1798
D. Abolition of Sati 4. 1829

Ans KX 1.A-4,B-3,C-2,D-1
w2 A-1,B-2,C-3,D-4
/X 3.A-2,B-1,C-3,D-4
X 4A-2,B-1,C-4,D-3

Q.17 fygfafad # § F-9 Y= Tad 82
1) 4@ STUeR, Wy el S Feafia 9 faare) o Tai= amaray 1 U SiUTaR (umpire) $ 9 § RITRT &3a1 81
2) Yate ATy e & w0 # AR ondwr  gear gl
3) YR VAU & 3¢ 129 ¥ URA & dIeR! Ie1 aradiw it g & ar & S faar mar g
4) YRA & W4l AaTad & Ydd i #t fFgfer yra & g grr 3t st

Ans X 1.23R1
X 2.13R4
X 3.338R2
& 4.33R4

Q.18 Who issued guidelines for the microfinance institutions in India?
Ans /< 1. NABARD

/5 2. Finance Ministry
" 3. Reserve Bank of India

/5 4. State Government

Q.19 Which of the following cities in India faces monsoon rain first?
Ans < 1. Kolkata

#< 2. Bhubaneswar
< 3. Chennai

" 4. Thiruvananthapuram

Q.20 Which of the following statement(s) is/are correct about Prarthana Samaj?
A. Prarthana Samaj or ‘Prayer Society’ in Sanskrit, was a movement for religious and social reforms.
B. Prarthana Samaj was founded in 1863 by the Dadoba Pandurang and his brother Atmaram Pandurang.

Ans «" 1. BothAand B
& 2.0nly A
X 3.0nlyB
/5 4. Neither A nor B

Section : Computer Knowledge Module




Q1

Ans

Which of the following is an example of an output device?
« 1. Printer
X 2. Microphone

< 3. Scanner
< 4. Mouse

Q.2

Ans

What is a workbook in Excel?
X 1. A collection of cells with related data
X 2. A set of predefined formatting styles

« 3. Afile containing multiple worksheets

X 4. A chart that visualises data

Q.3

Ans

How can you open an existing document in Microsoft Word 20167

X 1. Press Ctrl +P.
X 2. Press Ctrl + N.
« 3. Press Ctrl + O.
X 4. Press Ctrl +S.

Q.4

Ans

What is ‘Phishing’ in the context of network security?

X 1. Atype of computer worm that spreads through email attachments.

2 2. An attack that floods a network with excessive traffic to disrupt its operation.
X 3. Atype of malware that spreads through infected USB drives.

« 4. Asocial engineering attack that tricks users into revealing sensitive information.

Q.5

Ans

What is the purpose of a search engine on the internet?
X 1. To provide free software downloads.
+ 2. To search and retrieve relevant information from the web.

X 3. To create and edit documents online.

X 4. To network with people on social media platforms.

Q.6

Ans

What is a ‘DDoS attack’ in the context of network security?

X 1. A social engineering attack that targets specific individuals.
2

An attack that floods a network with excessive traffic to overwhelm and disrupt its operation.

X 3. An attack that aims to exploit vulnerabilities in software.

X 4. Atype of malware that replicates itself and spreads through a network.




Q7

Ans

What is the purpose of the ‘Alignment’ options in Microsoft Word?

+ 1. To control the horizontal or vertical placement of text within margins.
X 2. To insert images and graphics.

X 3. To change the font colour of the text.

X 4. To adjust the spacing between lines of text.

Q.8

Ans

What is the keyboard shortcut to “Paste” copied content from the clipboard in most Windows applications?
v 1 Cl+V

X2 Ctrl+Z

X3 crl+X

X4 Ctrl+C

Q.9

Ans

Which keyboard shortcut opens File Explorer (previously known as Windows Explorer) in Windows 10?
v 1. Win +E

X2 Cctl+cC

X3 Ctrl +P

A 4 Alt+Tab

Q.10

Ans

What is the main purpose of the ‘BCC” field in email composition?

X 1. To include multiple main recipients in a single field.

+ 2. To send copies of the email without revealing the other recipients' addresses.
X 3. To indicate the importance of the email.

# 4. To attach files to the email.

Q.11

Ans

What protocol is commonly used for sending and receiving emails?
X 1. HTTP (Hypertext Transfer Protocol)

X 2. SSH (Secure Shell Protocol)

X 3. FTP (File Transfer Protocol)

« 4. SMTP (Simple Mail Transfer Protocol)

Q.12

Ans

What is the role of ROM (Read-Only Memory) in a computer system?
X 1. Storing user-generated files and documents.

X 2. Managing network connections.

« 3. Storing the computer's firmware and startup instructions.

X 4. Providing temporary storage for running applications.




Q13 What is the purpose of the Arithmetic Logic Unit (ALU) in a Central Processing Unit(CPU)?

Ans X 1. Tt controls the speed of the CPU fan.
X 2. It connects the CPU to peripheral devices.
X 3. It manages the data flow between the CPU and memory.
« 4. It executes program instructions by performing calculations and logical comparisons.
Q14 Which among the following is a part of URL (Uniform Resource Locator)?
Ans X 1. Multiplexer
X 2. Server
X 3. Error code
+ 4 Port number
Q15 Which networking protocol is used to assign IP addresses dynamically to devices on a network?
Ans

#< 1. FTP (File Transfer Protocol)

X 2. SMTP (Simple Mail Transfer Protocol)

v 3. DHCP (Dynamic Host Configuration Protocol)
X 4. HTTP (Hypertext Transfer Protocol)
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